Question 14: (3 points)


�
Exercise 14-16 Working With Net Present Value [LO1]


Mountain View Hospital has purchased new lab equipment for $146,460. The equipment is expected to last for three years and to provide cash inflows as follows:





 


 


 


Year 1


$


47,000


Year 2


$


64,000


Year 3


 


?








If you calculate the discount factor(s) using a formula, round to three (3) decimal places before using the factor in the problem. 


Required :


Assuming that the equipment will yield exactly a 14% rate of return, what is the expected cash inflow for Year 3? (Round your answer to the nearest dollar amount. Omit the "$" sign in your response.)





Cash inflow 


$


 �
�



